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A , 305, 549

i L

o

508,436 |78 TAREX (& - s [EEAR AL R ] 40 m2
[#Ri]

ot
—
[\

TR RO T 587,288 | SIS 54 {2
[#[#]
LI SRR & 8m SARMGTIAR 7.5
m FEFAREBIkE 7.6m ;

R AR (FEAR AL R 1 =X
[[#]
3

O ek L 4 t
[#[#]

LI BN eV 1 121,825 | FJB Az (AUl - B4 JH ) 25 m2
(7]
FEIT9Y477 RC-30 AV /E 100mm ;

8 (FE - M) 25 m2
(7]
FAEMRIEET A7 7V MEA Y (20) &35 50mm 1
CAnAR (U4 0 SEXE E Y JE50mmlL )

AEEHE T Y 1 16, 088, 000 | A2 E L iE B 1 =
\ [#%r]
BT E A E 1 F2V

B [#%&M]

B E S Y 1 2,142, 389

i

EhAERRAAR T 2 1 2,142,389 | ALIEHE 45 m3
[#%[#]
TAT 7N (BRHD) SEHEEERE 6.9k m ;
By 8 m3
[#%[#]
7A7 7 bk (BEED) 2. 20t/m3 ;

X
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puey
(%]
TAT7V bk (BRED) 2. 35t/m3 ;
ERZE R LD
(%]
TA77VMERZERR BHZE)E 40mm ;
ERZE R LD
(%]

>=<1H-

TAT7VMEHZERR AR 100mm ;

LSl
(%14

TAT7VMEZERR SR 150mm ;

EHHE RSN A
(%14

TAT7VMEHEERR SH2ERRIE 4cm ;

EHHE RSAN A
(%14

TAT7VMEHEERR SH2ERRIE Scm ;

EHHE RSAN A
(%14

AT ML R EEERRE 10cm

EHHE RSAN A
(%14

TAT7 ML R BEERRE 15cm

36 m3

130 m2

200 m2

33 m2

180 m2

AR B T

5,061, 200

fi] & 1

5,061, 200

FIEN
(%14
VAR

28 N

BHHEI T

4,843, 831

HEH T

1,962, 953

B 1 4 Hl
[#% ]
L1
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(%14

£y ERLLAS OB /AR (BRAHELISLE)

20 m3

HRELL

1, 941, 690

MWL - FFE D
[#%[#]
FRERD |
MWL - FFE D
[#%[#]
RN

90 m3

AT

939, 188

AT E
(%14

T CE- AR Y BEte) EREHEE 5. 0k m

AT E

T CE- AR Y BEte) EREHEE 5. 0k m

AT E
(%14

T CE- AR Y BEte) EREHEE 5. 0k m

>

AT E

T CE- AR Y BEte) ERIHEE 5. 0k m

FEA O-27)

+Hp 50, 000m3AT ;
FEIA (=27)

+H 750, 000m3AT ;

20 m3

20 m3

20 m3

AR IL[RE L

12, 749, 976

BT (R HSER)

5,793, 286

R S
[#%[#]
SFEP4¥ £ 150mm ;
R
[ &[]

e

69 m

149 m
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SFEP4 £ 100mm ;
R S 64 m
[#%[#]
SFEP4¥ £ 80mm ;
R S 73 m
[#%[#]
FEPAFEPE £2 100mm ;
R S 74 m
[#%[#]
HEPAFEPE £% 50mm ;
SRR S 407 m
[#%[#]
PV £¢ 50mm ;
R S 63 m
[#%[#]
FA%E £¢ 150mm ;
R S 67 m
[#%[#]
BD £ 200mm &% £ 50mm ;
HIE Ry —b 190 m
150mm 2% ;
MR R RY-} 247 m
300mm 2{% ;
MR R RY-} 49 m
400mm 2{% ;

BT B B X 1 434,441 | oY)~ WA 2 1
SFEPE ¢ 150 ;

EVZARNE a7 4 1
SFEPE ¢ 100/ ;

EVZARNE a7 1 1
SFEP*& ¢ 80 ;

AR 1 fiE
SFEPE ¢ 100 ;

AR 4 il
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TSy « TfE - FER B {7 ¥ & & A bl A B
HEPRFEPSS ¢ 100 ;
AR 2 &
BD ¢ 200/ ;
AR 2 &
FA% ¢ 150/ ;
AR 19 1A
PVi% ¢ 50 ;
[EX=EE 3 L
SFEP4 ¢ 1501 ;
[EX=EE 6 L
SFEPE ¢ 100/ ;
T 3 #l
SFEPE ¢ 80H ;
LT 3 #l
HERFEPSS ¢ 100 ;
FLFEE T 2 HH
SFEP4-§EBRFEPE ¢ 1001 ;
FLFEE T 5 HH
HEMRFEPAS-PVAE ¢ 5008 ;
By 7 2 &
FA% ¢ 150H ;
J—p" 638 m
66 B ;
)=} o57 m
o4 WIEH
7 VEYANE 9 AL (REERTD) = 1 6,522,249 |7 VEIAME 9o 1 e
[#%[#]
RT-2MH W950 X H1400 X L3000 ;
7 VERAME A 1 18
[#%[#]
RT-3MH W950 X H1500 X L2200 ;
7 VERAME A 1 1A
[#%[#]
A=3MH W1800 X H2100 X L4000 ;
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T=E4L | Sf6 - THEEEE2 2 5 550 X B TEF

TSy « TfE - FER B {7 ¥ & & A bl A R
FERERT 5 m2
[#%[#]
HAITyvvT/ 40~0 7.5emz B 212, 5emPL T
FERERT 15 m2
[#%[#]
BAITyvvT/ 40~0 17. 5emZ 48 2.20. OcmPA T ;
FEvIv 0.5 m3
[#%[#]
I 1:3
BLay)-h 11 m2
[#%[#]
18-8-40 (B JF) = 10c m ;
E 1 5
[#%[#]
RT-2MH EE#ARILFTE A 863 950 X 1500 (V)
F-BEEET)
E 1 5
[#%[#]
RT-3MH EARILFEE AL k38 o 750 (V)v) -
BEEET) ;
E 2 5
[#%[#]
A-3MH FEARIEFENEAAE 83 6750 ;
DFEHEH 3 iE
[#%#]
il L = 1 1,432,670
AN =X 1 1,432,670 |~/N Hp 1 T
[#%[#]
BIE R 43I A = W600 X HO00 X 11200 ;
At 1 i
[#%[#]
TR WA70 X H800 X L1000 ;
ANl 2 T

-6 - E ta2@d Ui




il
W
St
%
I

T=E4L | Sf6 - THEEEE2 2 5 550 X B TEF

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

[#%[#]
LB W330 X H590 X L610 ;
RSB 4 m2
[#%[#]
HAITyvvT/ 40~0 7.5emz B2 12. 5emPL T
FEvIv 0.07 m3
[#%[#]
I 1:3
AFEHEH 1 iE
[#%[#]
DFEHEH 3 iE
[#%#]

oy

HEE T =Y 1 5,157, 601

TAT 7 Mg T X 1 5,157,601 | ANpRIKIE 239 m2
[#%[#]
WEMA Y HAITyveTY RC-30 ;
N 66 m2
[#%[#]
HEMA D RLEFIEERA M-30 ;
TR s (BE - BRI 134 m2
[#%[#]
HAT9v477 RC-40 {1 LD JE 200mm PR R

TR s (BE - BRI 41 m2
[#%[#]
FEITyYr77 RC-40 AV E 200mm ;
T B GRE ) 121 m2
[#%[#]
FEIT9Y%77 RC-30 AV /E 100mm ;
T B GRIE ) 33 m2
[#%[#]
FEITyYr77 RC-40 A VW E 150mm ;
e e (R - T ) 134 m2
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(]
REEFRFEREA M-40 {1 D JE 200mm el

R (HEGE - BRI ) 41 m2
(%]
b EETREE G M-40 £ LV JE 200mm ;
e s (RE D) 33 m2
(%]
b EETREE G M-30 AL LV JE 100mm ;
g (I - BRIF ) 128 m2
(%]
FAEMRLET ATV ME G (20) Efi2E)E 50mm 1
CAnAR (U4 0 SEXRHE E Y JE50mmlL )
g (I - BIF ) 5 m2
(%]
FAEMRLET ATV MR G (20) &5/ 50mm 1
C4AmPA 3. 0mELF
g (I - BIF ) 41 m2
(%]
FAEMRLET AT VRS (20) EiZE/E 50mm 3
. OmiZ ;
Hefg GRIER) 33 m2
(%]
FAEMRLET ATV NE G (20) &5/ 50mm 1
CAnAR (U4 0 SEXE E Y JE50mmlL )
Hefg GRIER) 66 m2
(%]
FAEMRLET A7V ME G (20) &5/ 50mm 1
C4mPl ko
W g (8 - B ) 128 m2
(%]
FAEMRLET ATV ME G (20) &5/ 50mm 1
CAnAR (U4 0 SEXRE E Y JE50mmlL T)
S EICSERE ) EED) 5 m2
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(%]
FAEMRLET ATV ME G (20) &5/ 50mm 1
C4AmPA 3. OmELF
W g (8 - B ) 41 m2
(%]
FAEMRLET AT VMRS (20) EiZE/E 50mm 3
. OmiZ
g (I - BIF ) 128 m2
(%]
FAEMRLET ATV MR G (20) &5/ 50mm 1
ARG (UZ 4 0 EE M 20 JE50mll ) PK-
35
g (I - BIF ) 128 m2
(%]
FAEMRLET ATV MR G (20) &5/ 50mm 1
ARG (UZ 4 0 EE M 20 JE50mll ) PK-
4
g (I - BIF ) 5 m2
(%]
FAEMRLET ATV ME G (20) &5/ 50mm 1
c4mPL F3.0mPA T PK-3 ;
g (I - BIF ) 5 m2
(%]
FRAERRLEE T A7 7V MRS (20) i
c4mPL F3. OmPA T PK—4 ;
g (I - BIF ) 41 m2
(%]
FRAERLRLEE T A7 7V MRS (20) i
.Om#@ PK-3 ;
g (I - BIF ) 41 m2
(%]
FRAERRLEE T A7 7V MRS (20) 2
.OmiB PK—4 ;
EEACSERD) 116 m2

50mm 1

iy
i

50mm 3

iy
i

50mm 3

iy
i
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(]
FEASKLRTIE T A7 MR (20). S50 40mm 1
CAnRi (L% D S 1 E50mmL )
#J8 OB ) i "
(]
FEASKLRTIE A7 TR (20). S50 40mm 1
S4mPl b
#J8 OB ) . "
(]
FEABERIIE A7 T MR (13) S 40mm 1
S4mPl b
#J8 OB ) v "
(]
FEASKLRTIE T 7 TR (20). S0 50mm 1
v (U4 D S 1 E50mmL )
#J8 OB ) " "
(]
FEASBERIIE A7 T MR (20). S50 50mm 1
S4mPL b

GET = 1 271, 453

SnT = 1 271,453 | ARBLEBE R ny) 16 m
[#%[#]
FEHES BAE fR L=1990mm FAIA ;
HRHLERE R T ny) 8 m
[#%[#]
FEUESS BRE TR L=1990mm FFFIA ;
HRHLERE R T ny) 2 m
[#%[#]
A4S BRE R L=1000mm FHFH ;
HRHLERE R T ny) 1 m
[#%[#]
HERAE ARE L=600mm FFIH ;
SHALEEIRT ) 6 m
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(7]
AE T ANE ATE L=600mm FHF ;

BT T = 1 30, 972

o5 (- A T 2 1 30,972 | #nv% (R BA 1A 6 m
(%]
W 0.8m 7" Vkyabav )17  my s A FAIA ;

X R T = 1 152, 599

X i T =X 1 152,599 | A mh= X iR 20 m
(7]
Rl CFE) R 15em JE1. 5mm HEAKMESHIE M
=
e il = X R 10 m
(7]
RACTFE) F248 15em JE1. bmm HEK M4 %S 4
o
e il = X R 10 m
(7]
R TE) B 15em 1. Smm HEKPE A LG A
=
e il = X R 50 m
(7]
RS ¥ 777 45em JE1. 5mm HEAPEAHLE 4
=
a2 X R 50 m
(7]
A TFE) KED-F505 - 30F 15em# 5 JE 1. Smm
PSR O
a2 X R 20 m
(7]
A TFE) KED-F505 - 30F 15em# 5 JE 1. Smm
PSSR 3

>
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TH HEAE R T
B

AL T

o

5, 600

P22
[#%[#]
IEAH B 60emAT HPIRARGAATN N AR #60c
mAT  LOOA A ;

SRR

o

3,796, 000

HEATEY T

3,796, 000

BT PR 7 AR
(%14
FRIASEHEE e — M T
BT PR 7 AR
(%14
FRIASEHAE e —MORAM RN

200 m

50 m

R

7,011, 167

7,011, 167

HRBR T Fept e &
(A%Y-ERY) [721#]
PP AT SR SUATT FERE H-350X 4500 18-8-40 (5
)
HRBR T Fept e &
(chY) [# ]
PP AT SR SUATTFERE H-300X 4000 18-8-40 (&
)
BT (BX)
(7]
FEHIA (=27)
5 850, 000m3A ;
T Hb S E
Tw CEBL- EAIRY L&) EMRIERE 5.0k m

HOEM AL ()
[#% ]
TRy bk (BEED GEHREERE 6.9k m
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=
xS
]
&
L
5
=
o
%

H &
HEYE T = 1 485,

2t

7,866 | B CREWT - B3 B LA s 6 m
(%]
7"V Aba ) =1y p A e =R v 3m

B REMHA = T

2t

217,489 | EhERYIWr 1 =X
(7]
TAT7 W MEEERR 15emPL T
EhAE AR AR 210 m2
(7]
TAT7VMERZE IR BfEERRE 4 c m
EhAE AR AR 59 m2
(7]
TAT 7 MEERR SHEERRE 10cm

G IEUE L T

VARPVECE S G 2 1 74,127 | H5ERT oSS 39 m2
(7]
300300 :
FHIA (av))-b%) 2 m3
(7]

fxAE L 2 1 77,774 | RHEERENT w0 7 m
[#%[#]
FAIH 800mmLL T ;

HRHGEBESNT ny i 26 m
[#%[#]
P 800mmZ i 2 2000mmLL T 50kgbL [550kg
AR

TEHRALER T = 1 108, 702 | By e 14 m3
[#%[#]
TA77vbigk (HEEI) EMPERE 6.9k m ;
R 2 m3
[#%[#]
av))-bik (ERR) SEMEEERE 6.9k m
By 14 m3

(5]
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T=E4L | Sf6 - THEEEE2 2 5 550 X B TEF

TEHX4y « Tfd - FER & #A iR
TAT7 bk (HEED
RISy 2 m3
(%]
/) -hik (E4%)
[ERAE Xy = 62, 446, 965
HiE R = 9,984, 413
BISTIGE: = 2,694, 413
TERE = 425,206 | IENRE 1 =
Hefif & = 415,538 |IEFHE 1 =
(%]
HOES ;
R 1 =
(%]
HIERR
5 e 1 =
R S 1 2 1 F2V
[%#]
L PN R i e = 146, 381 | KEFHEE 1 F2V
R GBS IE % 1 X
HeffrE sy = 159, 288 | B MEHERR FaAT -IERE F 1 =
RIE - 51 AR A 1 =
BGRESCGES (5 1) = , 548, 000
B (FEHL) = , 290, 000
T = ,431, 378
Bl gy = ,983, 000
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R PERE
TH4 | 6 - 7TAEEEE2 2 55 E MK BRI TE
THEXSy - THE - FE5 H7 & & # i Gl N
T AT 2V 1 105, 414, 378
— e PR A E20 1 17, 935, 622
N E20 1 123, 350, 000
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